# FINANCIAL INDUSTRY REGULATORY AUTHORITY (FINRA) OFFICE OF HEARING OFFICERS

DFPA	RTN	<b>JENT</b>	OF	ENFOR	RCEMENT.
DLI A	. 1 🕶 🗆	VIII V I	<b>()</b>	LINICI	COLHVILIA I.

Complainant,

v.

DAVID RANDALL LOCKEY (CRD No. 3095863),

Respondent.

Discip	linary	Procee	eding
No. 20	13034	195400	1

Hearing Officer:

#### **COMPLAINT**

The Department of Enforcement alleges:

#### **SUMMARY**

- 1. During the period from May 2012 through March 2014 ("Relevant Period"), registered representative David Randall Lockey ("Lockey"), while associated with FINRA member firm SWS Financial Services, Inc. ("SWS"), which is now known as Hilltop Securities Independent Network, Inc., engaged in unsuitable short-term trading and switching in open-end mutual funds ("OMFs"), closed-end funds ("CEFs"), and/or unit investment trusts ("UITs") in four different customer accounts, in violation of NASD Conduct Rule 2310 (for conduct prior to July 9, 2012), FINRA Rule 2111 (for conduct on and after July 9, 2012), and FINRA Rule 2010.
- Lockey also falsified five required SWS switch forms, making it appear that OMF, CEF and/or UIT securities purchased through him at his prior employer had been held in customer accounts longer than they actually had been, in violation of FINRA Rule 4511(b) and FINRA Rule 2010.

#### RESPONDENT AND JURISDICTION

- Lockey entered the securities industry in June 2000, when he associated with a FINRA
  member firm as an operations specialist. He subsequently registered with FINRA in May
  2001.
- 4. During his career in the securities industry, Lockey obtained Series 7 and 66 securities licenses.
- 5. He associated with four other FINRA member firms before associating with SWS from April 2012 until his termination from the firm on March 28, 2014, for "short term liquidations in Class A open end mutual funds."
- 6. Lockey was also terminated from the FINRA member firm with which he was associated immediately prior to associating with SWS for "recommending strategies involving short-term holds on long-term investments and failing to timely respond to trade-related inquiry from Compliance."
- 7. On April 1, 2014, SWS filed a Uniform Termination Notice for Securities Industry

  Registration ("Form U5") on Lockey's behalf, terminating his registrations with FINRA

  and his association with the firm on that day.
- Lockey has not been registered with FINRA in a registered representative capacity since
   April 1, 2014.
- 9. Although Lockey is no longer registered with FINRA, he remains subject to FINRA's jurisdiction for purposes of this proceeding, pursuant to Article V, Section 4 of FINRA's By-Laws, because: (i) the Complaint was filed within two years after the effective date of termination of Lockey's FINRA registration, namely April 1, 2014, and (ii) the Complaint charges him with misconduct committed while he was associated with a FINRA member and registered with FINRA.

#### FACTUAL BACKGROUND

#### Lockey Engaged in Unsuitable Short-Term Trading in Four Customers' Accounts

- 10. During the Relevant Period, while associated with SWS, Lockey recommended and engaged in a pattern of unsuitable short-term trading of OMFs, CEFs, and/or UITs in the accounts of four SWS customers who had been his customers at his prior employer member firm.
- 11. Each of the four customers transferred his or her account(s) to SWS when Lockey joined that firm after being terminated by his prior member.
- 12. Each of the four customer's investment objectives included income and/or long term capital growth.
- 13. Each of the four customer accounts held OMFs, CEFs and/or UITs that carried substantial transaction fees. As such, those products are generally intended to be held long-term, at least more than one year, in order to off-set their costs.
- 14. Nevertheless, Lockey recommended that his customers hold the OMFs, CEFs and/or UITs less than one year, contrary to the design of the products.
- 15. Specifically, Lockey executed 74 trades in OMFs, CEFs and/or UITs in the customers' accounts in which the holding periods for the transactions ranged from 22 days to eleven months.
- 16. Lockey's short-term trading also involved switching whereby he sold OMFs, CEFs and/or UITs and used some or all of the sales proceeds to purchase new OMFs, CEFs and/or UITs, with little or no economic benefit to the customers.
- 17. In two customers' accounts, Lockey also purchased and sold the same security multiple times, again with little or no economic benefit to the customers.

- 18. Lockey's improper trading activities in the four customers' accounts generated gross compensation of \$75,729.88 for Lockey and SWS. While one customer had a small gain in his account, the remaining three customers suffered collective trading losses totaling \$15,699.38.
- 19. The short-term trading and switching strategy that Lockey employed in the customers' accounts was not suitable for any customer, given the nature of the products.
- 20. Lockey made the recommendations to buy and sell the OMFs, CEFs and/or UITs without having reasonable grounds for believing that such recommendations were suitable for the four customers below in view of the nature and frequency of the transactions, and based upon the facts known to him regarding the customers' investment objectives.

#### Unsuitable Trading Activity in Customer HD's Account

- 21. Customer HD is a 67-year-old retired engineer. During the relevant time period, HD's primary investment objective was growth, with income as a secondary objective.
- 22. Shortly after HD's account was transferred to SWS from Lockey's prior member firm, Lockey began liquidating OMF, CEF and UIT securities that had been held in HD's account for less than a year. Lockey also short-term traded new OMF, CEF and UIT positions in HD's SWS account. (See Exhibit A, attached hereto and incorporated by reference).
- 23. In three instances, Lockey also bought and sold the same security in HD's account multiple times. This particular trading activity resulted in trading losses of \$2,964.86
- 24. In total, Lockey executed 34 short-term trades in HD's account, including sixteen transactions involving CEFs, twelve transactions involving OMFs, and six transactions involving UITs.
- 25. HD relied on Lockey's recommendations in making his investment decisions.

- 26. Lockey engaged in a pattern of recommending and executing short-term OMF, CEF and UIT transactions, including switches, in HD's account. He did so without having reasonable grounds for believing that such transactions were suitable for HD in view of the nature and frequency of the recommended transactions, and in light of HD's investment objectives.
- 27. Lockey's overall trading activity in HD's account resulted in a small gain of \$4,948.42 in net trading profits. However, the activity generated gross compensation for Lockey and SWS in the amount of \$39,059.39.

#### Unsuitable Trading Activity in Customer SB's Account

- 28. Customer SB is a 44-year-old social worker. His securities account was funded by money inherited after his mother's death. During the relevant time period, SB's primary investment objective was income, with growth as a secondary objective.
- 29. Soon after SB's account was transferred to SWS from Lockey's prior member firm,

  Lockey began short-term trading OMFs, CEFs and UITs in the account. (See Exhibit B,

  attached hereto and incorporated by reference).
- 30. Lockey liquidated several OMF securities that had been held in SB's account for less than a year, and purchased new OMFs, CEFs and UITs, which he also short-term traded.
- 31. In one instance, Lockey also bought and sold the same security in SB's account multiple times. This particular trading activity resulted in net trading losses of \$186.31.
- 32. In total, Lockey executed 16 short-term trades in SB's account including seven transactions involving CEFs, seven transactions involving OMFs, and two transactions involving UITs.
- 33. SB relied on Lockey's recommendations in making his investment decisions.

- 34. Lockey engaged in a pattern of recommending and executing short-term OMF, CEF and UIT transactions, including switches, in SB's account. He did so without having reasonable grounds for believing that such transactions were suitable for SB in view of the nature and frequency of the recommended transactions, and in light of SB's investment objectives.
- 35. Lockey's trading activities resulted in overall trading losses in the amount of \$2,634.57 in SB's account. However, the trading generated gross compensation of \$21,350.92 for Lockey and SWS.

#### **Unsuitable Trading Activity in Customer DT's Account**

- 36. Customer DT is a 59-year-old commercial delivery service driver. During the relevant time period, his primary investment objective was growth, with income as a secondary objective.
- 37. Shortly after DT's account was transferred to SWS from Lockey's prior member firm,

  Lockey began liquidating OMF and CEF securities that had been held in DT's account

  for less than a year. Lockey also short-term traded new OMF and CEF positions in DT's

  SWS account. (See Exhibit C, attached hereto and incorporated by reference).
- 38. During the relevant time period, Lockey executed 13 short-term trades in DT's account, including eight transactions involving CEFs and five transactions involving OMFs.
- 39. Lockey engaged in a pattern of recommending and executing short-term OMF and CEF transactions, including switches, in DT's account. He did so without having reasonable grounds for believing that such transactions were suitable for DT in view of the nature and frequency of the recommended transactions, and in light of DT's investment objectives.

40. Lockey's trading activities resulted in trading losses in the amount of \$8,547.11 in DT's account. However, the activity generated gross compensation of \$10,821.85 for Lockey and SWS.

#### Unsuitable Trading Activity in Customer LH's Account

- 41. Customer LH is a 58-year-old bookkeeper for a family-owned business. Lockey was the registered representative for two of LH's SWS accounts, a joint account with her husband and an individual IRA account. During the relevant time period, LH's investment objective for both accounts was growth.
- 42. Lockey continued his pattern of short-term trading of OMFs, CEFs and UITs in LH's accounts, including short-term trading of securities that had been purchased at Lockey's prior member firm and subsequently transferred to LH's accounts at SWS. (See Exhibit D, attached hereto and incorporated by reference).
- 43. During the relevant time period, Lockey executed 11 short-term trades in the accounts, including one transaction involving a UIT, six transactions involving CEFs and four transactions involving OMFs.
- 44. Lockey engaged in a pattern of recommending and executing short-term OMF, CEF and UIT transactions, including switches, in LH's account. He did so without having reasonable grounds for believing that such transactions were suitable for LH in view of the nature and frequency of the recommended transactions, and in light of LH's investment objective.
- 45. Lockey's trading activities resulted in trading losses in the amount of \$4,517.70 in LH's accounts. However, the activity generated gross compensation of \$4,497.72 for Lockey and SWS.

## Lockey Falsified SWS Switch Forms and Caused the Firm to Maintain Inaccurate Books and Records

- 46. In five instances during the relevant time period, Lockey falsified the date of purchase of certain OMF, CEF and/or UIT securities that he traded in customer accounts, making it appear that the securities had been held longer than they actually had been.
- 47. SWS's written supervisory procedures required the completion of a *Long Term*\*Investment Exchange Acknowledgement and Authorization Form (also known at SWS as a "Switch Form") anytime a customer switched from a variable product, OMF or UIT to another similar security.
- 48. The purpose of the Switch Form was for SWS to protect its customers from improper short-term switching of long-term products.
- 49. The Switch Form required a registered representative to identify the name of the investment being sold, the date of purchase of that investment, the name of the new investment product, and the reason for the switch.
- 50. Five Switch Forms completed by Lockey for transactions executed in the above-described customers' accounts contained an inaccurate original purchase date for investments that Lockey had recommended in the customer's account when the account was held at Lockey's prior member firm, and subsequently short-term traded when the customer's account was transferred to SWS.
- 51. Specifically, Lockey consistently provided a much earlier purchase date, so that it appeared that the product had been held for more than one year prior to sale at SWS.
- 52. By falsifying required SWS Switch Forms, Lockey caused SWS to maintain inaccurate books and records.

#### **Customer HD**

- 53. In customer HD's account, Lockey completed a Switch Form dated September 28, 2012, on which he wrote that the securities liquidated to purchase a new OMF security in August and September 2012, had been purchased in 2009.
- 54. In reality, the liquidated securities had been purchased less than a year earlier in October 2011.
- 55. Lockey completed another Switch Form dated June 27, 2012, on which he wrote that the securities liquidated to purchase new OMF securities in June 2012, had been purchased in January 2007.
- 56. The liquidated securities had actually been purchased between March 2010 and March 2012.

#### **Customer SB**

- 57. For customer SB's account, Lockey completed a Switch Form dated February 19, 2013, on which he wrote that the OMF security liquidated to purchase a new UIT security in February 2013, had been purchased in 2009. In reality, the liquidated security had been purchased during the period from October 2010 to October 2011.
- 58. Lockey completed another Switch Form dated April 22, 2013, on which he wrote that the OMF security liquidated to purchase a new UIT security in March 2013, had been purchased in 2009.
- 59. The liquidated security had actually been purchased during the period from June 2011 to October 2011.

#### **Customer LH**

60. Lockey completed a Switch Form dated May 14, 2012, for transactions in

- LH's account. Lockey wrote on the form that the OMF and UIT securities liquidated to purchase a new OMF security in May 2012 had been purchased in "Ivy-2009."
- 61. In reality, the liquidated securities had been purchased during the period from May 2011 through March 2012, with all of the Ivy OMF securities having been purchased a little less than a year earlier in late May 2011.

#### **FIRST CAUSE OF ACTION**

Unsuitable Short-Term Trading and Switching (violations of NASD Conduct Rule 2310 (for conduct prior to July 9, 2012), FINRA Rule 2111 (for conduct on and after July 9, 2012), and FINRA Rule 2010)

- 62. The Department realleges and incorporates by reference Paragraphs 1 through 61 above.
- 63. NASD Rule 2310, which was effective through July 8, 2012, required that in recommending to a customer the purchase, sale or exchange of any security, a member shall have reasonable grounds for believing that the recommendation is suitable for such customer upon the basis of the facts, if any, disclosed by such customer as to his other security holdings and as to his financial situation and needs.
- 64. FINRA Rule 2111, which became effective on July 9, 2012, provides that a member or an associated person must have a reasonable basis to believe that a recommended transaction or investment strategy involving a security or securities is suitable for the customer, based on the information obtained through the reasonable diligence of the member or associated person to ascertain the customer's investment profile. A customer's investment profile includes, but is not limited to, the customer's age, other investments, financial situation and needs, tax status, investment objectives, investment experience, investment time horizon, liquidity needs, risk tolerance, and any other information the customer may disclose to the member or associated person in connection with such recommendation.

- 65. FINRA Rule 2010 requires associated persons to observe high standards of commercial honor and just and equitable principles of trade.
- 66. During the relevant time period, while associated with SWS, Lockey executed 74 unsuitable short-terms trades in OMFs, CEFs and/or UITs in the accounts of four customers. The holding periods for the transactions ranged from 22 days to eleven months.
- 67. Lockey's improper trading activities in the four customers' accounts generated gross compensation of \$75,729.88 for Lockey and SWS. Three of the four customers, on the other hand, suffered collective trading losses totaling \$15,699.38.
- 68. Lockey made the recommendations to buy and sell the OMFs, CEFs and/or UITs without having reasonable grounds for believing that such recommendations were suitable for the four customers in view of the nature and frequency of the transactions, and based upon the facts known to him regarding the customers' investment objectives. As a result, the pattern of short-term trading and switching of the OMF, CEF and/or UIT securities was unsuitable for all four customers.
- 69. Given the nature of the long-term investments, Lockey's short-term trading and switching was unsuitable for any customer.
- 70. Based on the foregoing, Lockey violated NASD Conduct Rule 2310 (for conduct prior to July 9, 2012), FINRA Rule 2111 (for conduct on and after July 9, 2012), and FINRA Rule 2010.

#### **SECOND CAUSE OF ACTION**

# Falsification of Documents (violations of FINRA Rule 4511(b) and FINRA Rule 2010)

71. The Department realleges and incorporates by reference Paragraphs 1 through 70 above.

72. FINRA Rule 4511 provides that "[e]ach FINRA member shall make and preserve books

and records as required under FINRA rules, the Exchange Act and the applicable

Exchange Act rules."

73. During the relevant time period, while associated with SWS, Lockey falsified SWS

required switch forms by including inaccurate purchase dates for certain OMF, CEF

and/or UIT securities, making it appear that the securities had been held in certain

customers' accounts longer than they actually had been.

74. Based on the foregoing, Lockey violated FINRA Rule 4511(b) and FINRA Rule 2010.

#### RELIEF REQUESTED

WHEREFORE, the Department respectfully requests that the Panel:

A. Make findings of fact and conclusions of law that Respondent Lockey committed the

violations charged and alleged herein;

B. Order that one or more of the sanctions provided under FINRA Rule 8310(a) be imposed,

including that Respondent Lockey be required to disgorge fully any and all ill-gotten

gains and/or make full and complete restitution, together with interest; and

C. Order that Respondent Lockey bear such costs of proceeding as are deemed fair and

appropriate under the circumstances in accordance with FINRA Rule 8330.

Date: March 30, 2016

FINRA DEPARTMENT OF ENFORCEMENT

aren E. Whitaken

Karen E. Whitaker, Senior Regional Counsel

Penelope Brobst Blackwell,

Deputy Regional Chief Counsel FINRA Department of Enforcement

12801 North Central Expressway, Suite 1050

Dallas, TX 75243

Phone: 972-716-7610; Fax: 972-716-7612

Email: karen.whitaker@finra.org Email: penny.blackwell@finra.org David B. Klafter, Regional Chief Counsel FINRA - Department of Enforcement 5200 Town Center Circle Tower 1, Suite 200 Boca Raton, FL 33486

Phone: 561-443-8110; Fax: 561-443-7998

Email:david.klafter@finra.org

**Authorized House Counsel** Admitted in New York and New Jersey only

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
UITs										
Astonii en Londoeyis Praes Westeldes Praes	\$X\$4\\$\$\1		   '' '' '' '' '' '' '' '' '' '' '' '' ''	<b>5</b> 0	315 de 1	। এক ক্লোক ক্লিব				
Talefore Since	361 \$635 HZ	The wifer	AMESCO BUILD AMERICA BONDS IN MRTH, MARTS INVESCO BUILD	e C						
****6235	5/21/2012	s	AMERICA BONDS IN MNTHLY S=76	50	1063	(53,213.50)	36.5		36.5	
Aversigner Locurent Propr Waltiger Propr	\$/21/2511	. (29)	불에 LC A 사용자 환경 사료 사용 한 한 사이 전인 (1) (14) 트립리아 함께 사이 전인 (1) 용표기와	ිිර.		48 \$38.20				
The netter to	367 & 35 TC	Than sijer	BUTCHMEN BUST NUMBEROOD BUTMATHLY NEW CO. BUTMATHLY NEW CO.							
*****6235	5/21/2012	s	BUILD AMER BDS INCOME TRUST INVESCO BU MNTHLY S=79	50	1066.2	(53,368.00)	36.5		36.5	
Anton, en Landenyde Poter Weige Poter	(v24/25*) <u>0</u>	. id.	VAN KAMPENINT TRUST NVESCA VES VOORLE OTRIVISA	4500	( T 表示) ( ) ( ) ( ) ( ) ( )	4 1 4 <b>6 6</b> . 10				
Tansfera Syns	5/18/2012	Toskus/Jer		<u>4:()</u> (j(j:						
*****6235	5/21/2012	S	VAN KAMPEN UNIT TRUST INVESCO NEW WORLD QTRLY S=4	4000	10.006	(39,983.70)	36.5		36.5	
*****6235	5/21/2012	S	WORLD QTRLY S=4	4000	10.006	(39,983.70)	36.5		36.5	

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
4x6x31 ## Logosty/2			THYESOO DOWN JOHES THOTAL MARKET		1					
Étrióg:			(2010年) 10 10 10 10 10 10 10 10 10 10 10 10 10							
ନ୍ଧିକ ଅନ୍ତର୍ଜୀ ନିର୍ମ୍ଫ	\$774-2\$12	ō	122 QUÁRTERUK 1928 h	:5 <u>2</u> 5	3. 3/584	(5.20) £1				
			MESCO DOM DOMES TOTAL							
_			MARKET PORTFOLKO							
Tirajosakar kir Bokrā	50 4040	โดยสำคั	- 多层型 音楽 137 - 金脚 4条节层配上的 第333年	1525						
			INVESCO DOW JONES TOTAL MARKET							
			PORTFOLIO SERIES							
*****6235	5/21/2012	s	122 QUARTERLY CASH	1525	8.503	(12,925.58)	36.5		36.5	
						(,,				
Avest, et			VAR KAWEEN CHIT		í					
ୁର୍ତ୍ତ <del>କ</del> ୁନ୍ତି ନିର୍ଦ୍ଦିନ			75.001 NAESOO							
(ଜଗମଧ୍ୟର୍କ) ଆଧୀନ	4-65/20010	е,	30L05/4.4 (2008)47 8#19-0	2.5.3	48 1878 080.	27,473.22				
			Viado NadoFES UN T TROS TANIBAÇO		j	<del>i -</del>				
Trendality is:			301的增加上来 CTBQY							
THE	57 8/2912	Trensier	VAN KAMPEN UNIT	2.937	Į.					
			TRUST INVESCO GLOBAL 4 QTRLY							
*****6235	5/21/2012	s	S=12-2	2837	9.2154	(26,102.59)	36.5		36.5	
			FIRST TRUST SENIOR LOAN & LIMITED							
			DURATION PLUS CLOSED END SERIES							
*****6235	11/27/2012	b	16 MONTHLY CASH	5438	10.114	55,006.56		1,522.64		
			FIRST TRUST SENIOR LOAN & LIMITED							
			DURATION PLUS							
*****6235	8/26/2013	rei	CLOSED END SERIES 16 MONTHLY CASH	39	9.0661	353.58				
			FIRST TRUST SENIOR LOAN & LIMITED							
			DURATION PLUS CLOSED END SERIES							
*****6235	9/25/2013	rei	16 MONTHLY CASH	38	9.3032	353.52				

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			FIRST TRUST SENIOR LOAN & LIMITED DURATION PLUS CLOSED END SERIES							
*****6235	10/25/2013	rei	16 MONTHLY CASH	37	9.4935	351.26				
			FIRST TRUST SENIOR LOAN & LIMITED DURATION PLUS CLOSED END SERIES							
*****6235	11/21/2013	s	16 MONTHLY CASH	-5869	9.4071	(55,168.77)	36.5		1,559.14	
OMFs										
Ange 74 Linguagni Pingar					İ	ì				
igas iga Figas	\$125.20°	ō	- 17 MB A S F IED - MSCARE - PURD でし	क <u>्षा</u> ⊈ुंखः दृष्यं∗है।	516	\$60,5000 (t0)				
Ævisori eri Lioisseyêz Pijiori			沙萨岛 採煙塩					Ì		
Mariaer Hani	1.0 m (2.0 m) 1 m	Š.	한(VERS*FNEO (MCCME 보다 3 다)	1.8655.57 e.	19 30	20,000,00				
∏ভোগতা∮ <b>হ</b> ণ ড়ে প্রভাগত	5/13/2012	Three page (feet	が行う MPS B.VERO FIED INDOME PUND CO.	\$754						
*****6235	7/19/2012	S		6782.82	11.32	(76,776.52)				
	The state of the s					F				
Ascall att Lardiney is Pragr										
Maria Fam	1908/2011	ii a		1881 450	1.3 6.7	5,000 00				
Transier w Sylvē	5/-8/25-2	Transfer	SHOW BOARD FUND OL A	1 .0%:						
****6235	7/19/2012	S	MFS BOND FUND CL A	1115.659	14.08	(15,703.48)				
57-190. *folicitie/Apr *Yessi sii			[ 							
Wagrejoge Fire		ā	FETURAL FOTAL RETURAL FUADIOLIA	9572,461		30,000,00				

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
4v6:6% ## LoCasty*#										
Pinjor Wiel Wilder			wersertev Glogal Potal							
Frac	1724-30° 2	<sup>1</sup> Ş	RETURN FUND OLA Westerner	1.50%, 8.73	2.82	25,66,66,56	Ì	<u> </u>		
Trementer do Swits	ಕೊಂಡು ಕಿಂಡ್ ಇಂಡ	The same of the same	SLOBAL TOTAL RETURN FUND 61 A	(44) (44)						
<u> 491</u> 7	5/18/2012	ି ଅନ୍ତର୍ଜନ	MFS SER TR VI	- September						
*****6235	6/26/2012	s	GLOBAL TOTAL RETURN FUND CL A	5445.177	13.48	(73,395.99)				
4:50; 51 1:0:55;										
ମିମ୍ବାରୀ ଜ୍ୟୁକ୍ଟିଲ୍ଲ			MHS SER TR S りてもPSMATROMAL							
<b>F</b> 海水。	1.8723A28	ş	20 ESS 10 4 D OM	1.52%, 752	14.2 <u>2</u> 2	7,500,00	ļ Ī			
ীক্ষেত্ৰীলৈ কি উপ্তেত্তি	5/1-W2012	Transie	STERMATIC MAL BUIERS FICATION	tái <b>á</b> ő.						
5.0072	3A 3F22 2	TO EXCUSE	MFS SER TR X INTERNATIONAL	CHANGES.						
*****6235	8/15/2012	s	DIVERSIFICATION	1335.648	13.29	(17,745.76)				
A(0°, 9)										
<u></u>										
ମିଲ୍ଫି ଜ୍ୟାମର୍ଡ୍ଟ			WESTALDERS DO							
ଳିଏମୀ ମିଲ୍ଲେଲ୍ଗି <b>ଲ</b> ିକ୍ଟିଲ୍	1.072572011	<u>o,</u>	A MES VALUE FUNDICL	1003M; E.S.	32 54	2/5 (010,00,10)9	<u> </u>			
\$1998 <u> </u>	\$1\$2712	Transitar -	MFS VALUE FUND CL	1 1014:	_					
****6235	8/15/2012	S	A	1110.206	24.93	(27,672.44)				
-2√8(%), <del>3</del> ())										
Lacadeyna Projec										
wist regard Firm	19425000	š		401.633		. To 15000 .0161				
	t stransferdigt		WESTSROWTH RY	141 Years	3 12 Bit	. Same of the				
শিক্ষণাঞ্জন হৈছে । জ্বন্ধেত্ৰ	30 8020	ி துதின் 1	金融等等等 草思种型 30% A.	2 70 c 4 kg -						
			MFS GROWTH R4 GROWTH FUND CL A							
*****6235	8/15/2012	s	CICOVIIII OND CLA	401.653	46.89	(18,828.51)				

REI=reinvest

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
Ayerro en Estato Pragr Valgrafoser É non:	100000000000000000000000000000000000000		MACS ACH D S 直門する H 3 匿名する 5 名	1.2905.058		25,000 0g				
Transfer to		Transiler	DROSACHUSETTA Restora trustul A	1.00	-					
*****6235	8/15/2012	s	MASSACHUSETTS INVESTORS TRUST CL A	1303.98	21.21	(27,652.42)				
*****6235	6/22/2012	b	VIRTUS TACTICAL ALLOCATION FD CL A	7919.747	9.47	75,005.00		3,187.50		
*****6235	3/19/2013	s	VIRTUS TACTICAL ALLOCATION FD CL A	1012.146	9.88	(9,995.00)				
*****6235	4/23/2013	s	VIRTUS TACTICAL ALLOCATION FD CL A	7139.876	9.81	(70,037.18)			3,187.50	
*****6235	6/22/2012	b	PIMCO ALL ASSET FD CL A	6157.635	12.18	75,005.00		2,437.50		
*****6235	3/22/2013	S	PIMCO ALL ASSET FD CL A	6392.893	12.57	(80,353.67)			2,437.50	
*****6235	7/23/2012	b	PIMCO ALL ASSET ALL AUTHORITY FD A 2% REDEMPTION FEE < 7 DAYS	6300.63	11.11	70,005.00		2,100.00		
			PIMCO ALL ASSET ALL AUTHORITY FD A 2% REDEMPTION FEE < 7			·				
****6235	8/21/2012	b	DAYS PIMCO ALL ASSET ALL AUTHORITY FD A 2% REDEMPTION FEE < 7	4452.36	11.23	50,005.00		1,500.00		
*****6235	6/20/2013	s	DAYS	11263.53	10.23	(115,220.92)			3,600.00	
*****6235	8/24/2012	b	FIRST EAGLE GLOBAL FD CL A 2% REDEMPTION FEE < 60 DAYS	1980.59	50.49	100,005.00		3.000.00		

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			FIRST EAGLE GLOBAL							
			FD CL A 2%							
			REDEMPTION FEE <							
*****6235	9/24/2012	b	60 DAYS	968.617	51.62	50,005.00		1,500.00		
			FIRST EAGLE GLOBAL							
			FD CL A 2%							
			REDEMPTION FEE <							
*****6235	12/18/2012	S	60 DAYS	206.143	48.51	(9,995.00)				
			FIRST EAGLE GLOBAL							
			FD CL A 2%							
			REDEMPTION FEE <							
*****6235	3/22/2013	S	60 DAYS	2873.613	50.75	(145,830.86)			4,500.00	
	+		SUNAMERICA FOCUS	+				+	+	
*****6235	9/19/2013	ь	DIVIDEND STRAT FD A	5675.369	17.62	100,005.00		3,000.00		
0200	5/10/2010	_	SUNAMERICA FOCUS	2070.000	17.02	.50,000.00		3,000.00		
*****6235	9/24/2013	ь	DIVIDEND STRAT FD A	2876.87	17.38	50,005.00		1,500.00		
0200	0/2 1/2010		SUNAMERICA FOCUS	2070.07	17.00	00,000.00		1,000.00		
*****6235	9/25/2013	rei	DIVIDEND STRAT FD A	45.02	16.62	748.24				
0200	3/23/2313	10.	SUNAMERICA FOCUS	10.02	10.02					
*****6235	12/17/2013	rei	DIVIDEND STRAT FD A	59.155	16.5	976.05				
0200	1277712010	10.	SUNAMERICA FOCUS	00.700	10.0	070.00				
*****6235	12/17/2013	rei	DIVIDEND STRAT FD A	118.439	16.5	1,954.24				
0200	12/11/2010	10.	SUNAMERICA FOCUS	110.100	10.0	1,001.21				
****6235	12/17/2013	rei	DIVIDEND STRAT FD A	177.27	16.5	2,924.96				
0200	7211112010	1.0.	SUNAMERICA FOCUS	711.2	10.0	2,021.00		1		
****6235	3/26/2014	rei	DIVIDEND STRAT FD A	47.348	16.68	789.76				
0200	0/20/2011	10.	SUNAMERICA FOCUS	11.010	10.00	7.00.70				
*****6235	3/26/2014	s	DIVIDEND STRAT FD A	-5995.204	16.68	(99,995.00)			4,500.00	
0200	5/25/2511	_	BITIBERS STICKTER	3000:201	10.00	(00,000.00)			1,000.00	
CEFs										
<b></b>										
			BLACKROCK							
			ENHANCED EQUITY							
			DIVIDEND TRUST							
			(formerly Blackrock							
****	514510045		Enhanced DividEnd	0500		05.505.04	0.15.00			
*****6235	5/18/2012	p	Achievers Tr)	3500	7.1099	25,505.34	615.69	-		
			BLACKROCK							
			ENHANCED EQUITY							
			DIVIDEND TRUST							
			(formerly Blackrock							
*****	7/20/2042	_	Enhanced DividEnd	4500	7 2400	44 240 40	240.04			
*****6235	7/20/2012	b	Achievers Tr)	1500	7.3499	11,346.46	316.61			

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			BLACKROCK ENHANCED EQUITY DIVIDEND TRUST (formerly Blackrock Enhanced DividEnd					J. Guille		
*****6235	8/27/2012	S	Achievers Tr)	5000	7.4101	(36,544.67)	500		1,432.30	
*****6235	5/18/2012	b	EATON VANCE RISK- MANAGED DIVERSIFIED EQUITY INCOME FUND	2500	10.07	25,735.50	555.5			
*****6235	8/27/2012	s	EATON VANCE RISK- MANAGED DIVERSIFIED EQUITY INCOME FUND	2500	10.34	(25,444.42)	400		955.5	
*****6235	5/18/2012	b	NUVEEN EQUITY PREMIUM OPPORTUNITY FUND	2100	11.68	25,057.22	524.22			
*****6235	5/22/2012	s	NUVEEN EQUITY PREMIUM OPPORTUNITY FUND	1000	11.75	(11,449.43)	295.41			
*****6235	6/13/2012	s	NUVEEN EQUITY PREMIUM OPPORTUNITY FUND	1100	11.669	(12,513.74)	317.09		1,136.72	
*****6235	5/18/2012	b	FIRSTHAND TECHNOLOGY VALUE FUND INC	400	23.7	9,691.62	206.62			
*****6235	6/21/2012	ь	FIRSTHAND TECHNOLOGY VALUE FUND INC	400	18.42	7,523.00	150			
*****6235	8/14/2012	s	FIRSTHAND TECHNOLOGY VALUE FUND INC	800	15.918	(12,438.25)	290.46		647.08	
			INVESCO VAN KAMPEN DYNAMIC CREDIT OPPORTUNITIES							
*****6235	5/21/2012	b	FUND INVESCO VAN KAMPEN DYNAMIC CREDIT OPPORTUNITIES	1500	11.477	17,625.23	409.28			
*****6235	6/13/2012	S	FUND	-1500	11.28	(16,514.68)	405.47		814.75	

REI=reinvest

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
*****6235	5/21/2012	b	COHEN & STEERS RLTY FUND	2000	12.57	25,668.70	523.7			
*****6235	5/22/2012	b	COHEN & STEERS RLTY FUND	1000	12.72	13,034.15	309.15			
*****6235	6/25/2012	b	COHEN & STEERS RLTY FUND	159	12.8	2,079.95	39.75			
*****6235	6/26/2012	b	COHEN & STEERS RLTY FUND	841	12.87	11,108.06	279.47			
*****6235	8/14/2012	s	COHEN & STEERS RLTY FUND	2000	13.959	(27,361.45)	549.92			
*****6235	8/16/2012	s	COHEN & STEERS RLTY FUND	580	13.972	(7,968.31)	130.5			
*****6235	8/17/2012	s	COHEN & STEERS RLTY FUND Order	1420	14.04	(19,483.61)	448.31		2,280.80	
*****6235	5/22/2012	ь	BLACKROCK GLOBAL OPPORTUNITIES EQUITY TRUST.	1000	12.87	13,186.17	311.27			
0200	O/ZZ/ZOTZ		BLACKROCK GLOBAL OPPORTUNITIES	1000	12.07	10,100.11	011.27			
*****6235	6/13/2012	S	EQUITY TRUST	1000	12.84	(12,523.96)	310.85		622.12	
*****6235	8/15/2012	b	BLACKROCK RESOURCS & COMMODITIES STRATEGY TRUST	1000	14.036	14.368.78	327.78			
0233	0/13/2012	D .	BLACKROCK RESOURCS &	1000	14.030	14,300.70	327.70			
*****6235	8/28/2012	b	COMMODITIES STRATEGY TRUST	1000	14.165	14,499.61	329.61			
			BLACKROCK RESOURCS & COMMODITIES							
*****6235	9/24/2012	S	STRATEGY TRUST	2000	14.6	(28,744.95)	450		1,107.39	
*****6235	8/15/2012	b	NUVEEN REAL ASSET INCOME & GROWTH FUND	1000	18.75	19,105.00	350			
			NUVEEN REAL ASSET INCOME & GROWTH			·				
*****6235	8/27/2012	b	FUND NUVEEN REAL ASSET	1000	18.75	19,054.90	300			
*****6235	8/28/2012	b	INCOME & GROWTH FUND	500	18.44	9,437.33	212.38			

REI=reinvest

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			NUVEEN REAL ASSET INCOME & GROWTH							
*****6235	10/23/2012	s	FUND	1500	18.765	(27,621.84)	520.63			
			NUVEEN REAL ASSET INCOME & GROWTH			,				
*****6235	11/9/2012	S	FUND NUVEEN REAL ASSET	200	18.85	(3,658.04)	106.88			
*****6235	11/27/2012	s	INCOME & GROWTH	800	18.6	(14,553.90)	320.85		1,810.74	
0200	(112112012		T GIVE	000	10.0	(11,000.00)	020.00		1,010.71	
*****6235	10/23/2012	ь	BLACKROCK BUILD AMERICA BOND FUND	1000	22.837	23.281.42	444.02			
*****6235	11/27/2012	s	BLACKROCK BUILD AMERICA BOND FUND	-1000	23.074	(22,668.68)	405.52		849.54	
0200	1112112012		/ WILL WEST BOTTS   GITS	1000	20.07 1	(22,000.00)	100.02		0.10.01	
*****6235	10/23/2012	b	INVESCO VAN KAMPEN DYNAMIC CREDIT OPPORTUNITIES FUND	2000	12.83	26,193.41	533.61			
*****6235	11/27/2012	s	INVESCO VAN KAMPEN DYNAMIC CREDIT OPPORTUNITIES FUND	-2000	12.704	(24,953.23)	455.57		989.18	
0200	(112112012		1 0112	2000	12.70	(21,000.20)	100.07		000.10	
			EATON VANCE LIMITED DURATION							
*****6235	3/22/2013	b	INCOME FUND EATON VANCE	2000	17.399	35,401.77	604.77			
*****6235	6/20/2013	b	LIMITED DURATION INCOME FUND	2000	15.509	31,598.59	580.99			
0200	2.20/2010		EATON VANCE LIMITED DURATION		10.000	21,000.00				
*****6235	8/23/2013	s	INCOME FUND	-4000	14.731	(58,215.97)	706.03		1,891.79	
*****6235	3/22/2013	b	GABELLI EQUITY TRUST INC	2000	6.4799	13,340.28	380.48			
*****6235	5/24/2013	s	GABELLI EQUITY TRUST INC	-2000	6.9701	(13,545.60)	394.6		775.08	

Account #	Trade Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			INVESCO VAN KAMPEN DYNAMIC CREDIT							
*****6235	3/22/2013	ь	OPPORTUNITIES FUND	2000	13.499	27,544.44	546.24			
*****6235	5/24/2013	s	INVESCO VAN KAMPEN DYNAMIC CREDIT OPPORTUNITIES FUND	-2000	13.741	(26,930.31)	551.29		1,097.53	
	0/2 1/2010		- Citis		10	(20,000.01)	331.23		1,007.00	
*****6235	6/20/2013	b	BLACKSTONE/GSO LONG SHORT CREDIT INCOME FUND	1500	19.168	29,283,18	531.33			
*****6235	6/24/2013	b	BLACKSTONE/GSO LONG SHORT CREDIT INCOME FUND	1500	18.538	28,328.95	522.4			
*****6235	7/18/2013	s	BLACKSTONE/GSO LONG SHORT CREDIT INCOME FUND	-3000	18.4	(54,403.81)	797.09		1,850.82	
*****6235	6/25/2012	b	EATON VANCE TAX MANAGED BUY WRITE INCOME FUND	1500	13.097	20.025.95	375			
*****6235	8/14/2012	s	EATON VANCE TAX MANAGED BUY WRITE INCOME FUND	1500	14.23	(20,883.26)	456.41		831.41	
0200	3,11,2012		INCOME 1 CAD	7000	11.25	(20,000.20)	Total Sales Cre Commission	dits and/or	39,059.39	
								Total Gair Customer	-	
								Lockey ar	npensation to nd SWS	\$39,059.39

Account	Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
OMFs										
ેલ્લો કો										
<u> </u>			FRANKLIN ZOUTTY							
ģriķtariķtēv Fl.161	703/2011	- S	のでは600号 博覧 ②1. A (69時) 第686	2007 x 2	+ 0 % §	500,000 000				
		<u> </u>	FRANKLIN EQUIPM							
Trajestfar to Strijt	4736002013	િલ્ <u>લા</u> લા કરેફેલ	からのReselfの GL 本でMF) 1989年。	123/2/12/5						
1.000	4 1 4 20 - 20 - 40	1 21000 400				(497.70)				
			Cash Withdrawn FRANKLIN EQUITY			(197.78)				
			INCOME FD CL A (MF)							
*****3328	6/26/2012	S	(NW)	2825.497	16.83	(47,548.11)	-			
_4.398. #85 0.388 <b>#</b> y_5_E17@5	İ		FEDERATED STRAT							
Merker Firm	\$ <b>4</b> 20 €	.35.	VALUE DAY DEMO FOR	\$\$\$\$.4.4.9	41 9 5	28,000,00				
Transfer to	4/28/20 (2	Transia.		5364	1					
		1. E) ((E) (F)	FEDERATED STRAT							
*****3328	5/23/2012	S	VALUE DIVIDEND FD A	1043.841	4.79	(4,995.00)				
*****3328			Cash Withdrawn			(129.66)				
*****3328	6/26/2012	s	FEDERATED STRAT VALUE DIVIDEND FD A	4317.396	4.88	(21,063.89)				
3320	0/20/2012	3	VALUE DIVIDEND I DA	4317.330	4.00	(21,003.09)				
\$K. 31				Ĭ						
, odkay a Phon			MES BOAR FOOLS.							
Meralloen Films Apolloni	1507/2001	2	975; 9399 <u>)</u>	\$\$\$\$.70f	43.44	95.000.00	Ì			
_coldrey/st Philips			ars bond foola		]					
Menter Fire And at	1371322011	3		153.734	(3,55	2,195,66				
acide as Lighthay a Propr			MES 50070 40 00 4		1					
slambar Fiar	15/25/257	্	[ME] (85%)	1805.354	13 25	25,000,000		ļ		
ing ang sangsi Ting sangsing panggalang	4,000000000	Tografia	「胸門等" 景观的景景 "草顶" 成制。全 「胸門等" 景观的景景	.a.(2) - 3°.						
		3.11-24-03	MFS BOND FD CL A							
*****3328	6/26/2012	s	(MF) (NW)	4686.373	13.87	(64,995.00)				
*****3328	6/27/2012	s	MFS BOND FD CL A (MF) (NW)	2092.352	13.86	(28,995.00)				
*****3328			Cash Withdrawn		1	(1,172.82)				
			MFS BOND FD CL A			(1,112.02)				
*****3328	7/19/2012	S	(MF) (NW)	2139.77	14.08	(30,122.96)				

Account	Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
A. केलो का		Ĭ			i			-		
ුගුල්මෙන් දී විශ්ලාව න්)යෙන්ලීලේ විධාන	10/25/201	- jg.	ATRATEGIC REPARE Folge A	707 ± 2.83	\$ 2,8	\$6,000 002				
ীভাগজালা হৈ		1				, , , , , , , , , , , , , , , , , , ,				
300 g	479/201	Transdar.	FEDERATED	56,74						
			STRATEGIC INCOME							
*****3328	5/23/2012	s	FD CL A	1642.935	9.13	(14,995.00)				
*****3328			Cash Withdrawn			(360.63)				
			FEDERATED			, ,				
*****	0/20/2042		STRATEGIC INCOME	2024 227	0.47	(22 204 27)				
*****3328	6/26/2012	S	FD CL A	3631.327	9.17	(33,294.27)				
			DIMCO ALL ACCET ED							
*****3328	6/26/2012	b	PIMCO ALL ASSET FD	10779.44	12.06	130,005.00		3,575.00		
*****3328			Cash Withdrawn			(5,133.91)				
		+	PIMCO ALL ASSET FD			(3,133.91)				
*****3328	6/13/2013	s	CL A	10779.44	12.35	(133,121.03)			3,575.00	
			PIMCO HIGH YIELD MUNI FD CL A 2%							
			REDEMPTION FEE < 30							
*****3328	6/26/2012	b	DAYS	7428.571	8.75	65,005.00		1,787.50		
			PIMCO HIGH YIELD MUNI FD CL A 2%							
*****3328	7/19/2012	ь	REDEMPTION FEE < 30 DAYS	9122.007	8.77	80,005.00		1,600.00		
*****3328	771072012		Cash Withdrawn	O IZZ.OUI	0.77	(5,280.27)		1,000.00		
3320			PIMCO HIGH YIELD			(3,200.21)				
			MUNI FD CL A 2%							
*****3328	6/13/2013	s	REDEMPTION FEE < 30 DAYS	16555.89	8.62	(142,706.77)			3,387.50	
3320	0/13/2013	3	DATO	10333.03	0.02	(142,700.77)			3,307.30	
			PIMCO ALL ASSET ALL							
			AUTHORITY FD A 2%							
*****	0/27/2040	_	REDEMPTION FEE < 7	2725 504	40.04	20 005 00		070		
*****3328	6/27/2012	b	DAYS	2725.564	10.64	29,005.00		870		
*****3328			Cash Withdrawn			(1,417.32)				
			PIMCO ALL ASSET ALL AUTHORITY FD A 2%							
			REDEMPTION FEE < 7							
*****3328	6/13/2013	S	DAYS	2725.564	10.57	(28,804.21)	-		870	

Account	Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
CEFs										
			COHEN & STEERS							
*****3328	5/22/2012	b	RLTY FUND	2000	12.78	26,092.66	527.66			
*****3328			Cash Withdrawn			(2,384.00)				
*****3328	12/21/2012	S	COHEN & STEERS RLTY FUND	2000	14.16	(27,871.17)	450		977.66	
			NUVEEN SELECT TAX- FREE INCOME							
*****3328	7/18/2012	b	PORTFOLIO	2500	15.34	38,905.00	550			
*****3328			Cash Withdrawn			(1,123.75)				
*****3328	12/21/2012	s	NUVEEN SELECT TAX- FREE INCOME PORTFOLIO	2500	15.37	(37,920.14)	500		1.050.00	
3320	12/2 1/2012	3	1 OKTI OLIO	2500	13.57	(57,520.14)	300		1,030.00	
			INVESCO MUNICIPAL INCOME OPPORTUNITIES							
*****3328	8/28/2012	b	TRUST	7500	7.26	55,454.25	1,000.00			
*****3328			Cash Withdrawn			(787.5)				
			INVESCO MUNICIPAL INCOME OPPORTUNITIES							
*****3328	11/27/2012	S	TRUST	7500	7.96	(58,895.16)	800		1,800.00	
*****3328	6/20/2013	b	NUVEEN SELECT TAX- FREE INCOME PORTFOLIO	1500	13.39	20,540.41	444.56			
*****3328	6/24/2013	b	NUVEEN SELECT TAX- FREE INCOME PORTFOLIO	500	13.04	6,698.28	174.13			
*****3328			Cash Withdrawn			(1,123.75)				
*****3328	10/28/2013	S	NUVEEN SELECT TAX- FREE	(2000)	13.11	(25,789.74)	425		1,043.69	
			WESTERN ASSET MUN							
*****3328	6/20/2013	b	HIGH INCOME FD INC	3000	7.1	21,850.84	550.34			
*****3328			Cash Withdrawn			(186)				

Account	Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			WESTERN ASSET MUN		111111					
*****3328	10/28/2013	S	HIGH INCOME FD	(3000)	6.85	(20,122.64)	425		975.34	
			NUVEEN MUNICIPAL							
*****3328	6/20/2013	b	INCOME FD	2000	10.6	21,698.97	486.57			
*****3328			Cash Withdrawn			(380)				
*****3328	10/28/2013	s	NUVEEN MUNICIPAL INCOME FD	(2000)	10.1	(19,766.85)	425		911.57	
3320	10/20/2013	3	INCOMETE	(2000)	10.1	(19,700.03)	423		311.57	
			MFS HIGH INCOME							
*****3328	6/20/2013	b	MUNICIPAL TR SH BEN   INT	4000	4.85	19,987.41	592.41			
0020	0,20,2010		MFS HIGH INCOME	1000		10,007111	552.11			
*****3328	6/24/2013	b	MUNICIPAL TR SH BEN	2000	4.67	9,666.79	324.19			
*****3328			Cash Withdrawn			(648)				
	40/00/0040		MFS HIGH INCOME	(0000)	4.50		105		4.044.00	
*****3328	10/28/2013	S	MUNICIPAL TR	(6000)	4.56	(26,931.32)	425		1,341.60	
UITs										
*****3328	2/13/2013	b	FIRST TRUST SENIOR LOAN & LIMITED DURATION PLUS CLOSED END SERIES 72 MONTHLY CASH	13570	9.95	135,010.22		3,460.35		
			Cash Withdrawn			(7,361.75)				
*****3328	12/18/2013	s	FIRST TRUST SENIOR LOAN & LIMITED DURATION PLUS CLOSED END SERIES 72 MONTHLY CASH	(13570)	8.38	(113,635.75)	36.50		3,496.85	
*****3328	3/26/2013	b	FIRST TRUST CORE THREE CLOSED END ALLOCATION SERIES 8 MONTHLY CASH	6530	9.95	65,006.58		1,885.21		
			Cash Withdrawn			(2,805.26)				
*****3328	12/18/2013	s	FIRST TRUST CORE THREE CLOSED END ALLOCATION SERIES 8 MONTHLY CASH	(6530)	8.79	(57,330.43)	36.50		1,921.71	

Account	Date	Buy/ Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
							Total Sales Cre Commission	dits and/or	21,350.92	
								Total Gair Customer		
								Total Com Lockey ar	pensation to	\$21,350.92

#### Exhibit C – CEF and OMF Transactions in Customer DT's Account

Account #	Trade Date	B/S	Security Description	Qty	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
OMFs				-						
Omi 3										
A3391 (1)										
<u>=</u> 00017€/2			. 207 D - 50 D 10No 14A-1							
David Wijara Dijar			MES SROWTH ALICCATION F2-0.							
Piors.	- #3/49/10 109	ij.	<u>*</u>	5,1517.3	14.57	775 (0)010, (6)0		<u>,</u>	<u></u>	
Trendering Biography	8m 8006 12	Territe (St		\$ 1%° .000						
*****3194	8/21/2012	S	MFS GROWTH ALLOCATION FD CL A	5,161.73	14.74	(76,078.96)				
3134	0/2 1/2012	5	A	5,161.75	14.74	(10,010.50)				_
Add th		İ				Ĭ				
Landwayin			MES SUCEAUTOTAU NETURN FOCUA							
2018(요시합니다. Ens/21)			RETURN FORLA							
Fit 198:	11 may 1 may 1 mg	Ê	[85]pt.]	1.033.57	14.45	75. 000 TO		<u> </u>	_	
.A.33현 회1 도하여 동기호			MFS RLOBAL TOTAL							
gariff Edion Añ a			KETURA PUSUA							
krijann lause Firens	20.3425.2	***	1948) 1979:	<u> 2</u> 25 43	ેલા, <u>લેવ</u> ાં	8.273.2E				
jakarjik aji	187 (198 <u>1</u> 85 (198	3	Se asi	3.5° (4)8°	difasi.		<u> </u>	!		
_odesy's			MES GLOBAL TOTAL							
Progr Johnston			RETURN FORCE A							
Fig. 5	3/9/2012	(A	88° 88° .	<u>\$</u> 4 + 4	14.518	307.3 <u>2</u>		47	<u>.</u>	
్గాభకోయా <b>క</b> ు క్రామం	\$1.3/1.5 (2)	**************************************		1,3 (4),000						
20 to 19 (20)	5 5. 5.3 25	. 20375	MFS GLOBAL TOTAL RETURN FD CL A (MF)	,						
*****3194	8/21/2012	S	(NW)	1,314.87	14.17	(18,626.75)				
			DREYFUS DYNAMIC							
*****3194	8/26/2013	b	TOTAL RETURN FD	1,248.27	14.42	18,005.00		900.00		
			DREYFUS DYNAMIC	,						
*****3194	8/27/2013	b	TOTAL RETURN FD	490.20	14.28	7,005.00		350.00		
0.01	5.2772010	-	DREYFUS DYNAMIC	.50.20	. 1.20	.,000.00		555.55		
*****3194	3/26/2014	s	TOTAL RETURN FD CL A	(1,738.46)	14.17	(24,629.01)			1,250.00	
3134	3/20/2014	9	ULA	(1,730.40)	14.17	(24,023.01)			1,230.00	

#### Exhibit C - CEF and OMF Transactions in Customer DT's Account

Account #	Trade Date	B/S	Security Description	Qty	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			FIRST EAGLE							
			GLOBAL FD CL A 2%							
			REDEMPTION FEE <							
*****3194	8/27/2012	b	60 DAYS	801.88	51.13	41,005.00		1,742.50		
			FIRST EAGLE							
			GLOBAL FD CL A 2%							
*****3194	40/00/0040	_	REDEMPTION FEE <	500.04	E4 C7	20 005 00		4 425 00		
3194	10/22/2012	b	60 DAYS FIRST EAGLE	580.61	51.67	30,005.00		1,125.00		
			GLOBAL FD CL A 2%							
			REDEMPTION FEE <							
*****3194	1/17/2013	b	60 DAYS	75.74	51.49	3.905.00		146.25		
			FIRST EAGLE			· ·				
			GLOBAL FD CL A 2%							
			REDEMPTION FEE <							
*****3194	3/25/2013	S	60 DAYS	1,519.43	50.67	(76,984.32)			3,013.75	
			PIMCO ALL ASSET							
			ALL AUTHORITY FD							
			A 2% REDEMPTION							
*****3194	12/20/2012	b	FEE < 7 DAYS	4,016.74	11.95	48,005.00		1,920.00		
			PIMCO ALL ASSET							
			ALL AUTHORITY FD							
*****3194	6/20/2013		A 2% REDEMPTION	4 470 43	40.00	(40.740.00)			4 020 00	
3194	6/20/2013	S	FEE < 7 DAYS	4,178.42	10.23	(42,740.28)			1,920.00	
CEFs										
CEFS						+				
A. HOW. Eff										
_0000 #0 #			EATON VANAGETAX							
Prings			KANASED Servens Ereb Erebumbe							
kilen lær Firm	20 8200	ja ja	1945年開発 計画計画のUNITY 1945年開発 計画計画のUNITY	+ (e(046) (erči		100 为: 医高型				
PH 133	il. Stylenson All	200	■ 国民工会社 マタック選 TAX	Topical Sept.	31 1 191	10,000	<u>.</u>		-	
			WANAGES							
Trappalan g			TOVERS FIED EQUITY							
\$500 S	\$1.3/23.12	Total Springer	MOCONE FUND	- , <u>(</u> 00 <u>6</u> 10 (, 012)						
			EATON VANCE TAX							
			MANAGED							
******	0/00/0046		DIVERSIFIED EQUITY	1 000 00	0.00	(0.000.05)	004.44		204.44	
*****3194	8/22/2012	S	INCOME FUND	1,000.00	9.33	(9,063.65)	261.14		261.14	
			NUVEEN REAL							
			ASSET INCOME &		1					
*****3194	8/21/2012	b	GROWTH FUND	500.00	18.90	9,670.59	215.64			

#### Exhibit C – CEF and OMF Transactions in Customer DT's Account

Account #	Trade Date	B/S	Security Description	Qty	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
, account t	TIEGG Date	5/0	NUVEEN REAL ASSET INCOME &	- Gary	11166	ranount	John Hard	Orean	COMMISSION	LUGUGEIII
*****3194	12/20/2012	s	GROWTH FUND	500.00	18.68	(9,121.05)	214.09		429.73	
*****3194	10/23/2012	b	BLACKROCK BUILD AMERICA BOND FUND	400.00	22.82	9,334.11	206.63			
			BLACKROCK BUILD AMERICA BOND							
*****3194	12/20/2012	S	FUND	(400.00)	22.56	(8,818.63)	205.37		412.00	
*****3194	3/25/2013	b	GABELLI EQUITY TRUST INC	3,000.00	6.46	19,809.70	430.00			
*****3194	5/20/2013	s	GABELLI EQUITY TRUST INC	(1,500.00)	7.00	(10,190.90)	314.50			
*****3194	5/24/2013	s	GABELLI EQUITY TRUST INC	(1,500.00)	6.97	(10,141.28)	313.72		1,058.22	
*****3194	6/20/2013	b	BLACKSTONE/GSO LONG SHORT CREDIT INCOME FUND	500.00	19.15	9,796.85	222.40			
0,01	G/ZG/ZG TG		BLACKSTONE/GSO LONG SHORT CREDIT INCOME	200.00	10.10	0,700.00	222.10			
*****3194	6/24/2013	b	FUND	500.00	18.54	9,486.92	218.07			
*****3194	8/21/2013	s	BLACKSTONE/GSO LONG SHORT CREDIT INCOME FUND	(1,000.00)	17.85	(17,543.69)	305.31		745.78	
*****3194	6/20/2013	b	EATON VANCE LIMITED DURATION INCOME FUND	1,000.00	15.51	15,862.64	353.64			
			EATON VANCE LIMITED DURATION							
*****3194	8/26/2013	S	INCOME	(1,000.00)	14.72	(14,377.96)	342.74		696.38	
******	7/00/0040	L-	CAPITAL SOUTHWEST	50.00	442.57	7 225 77	400.07			
*****3194	7/23/2013	b	CORPORATION	50.00	142.57	7,235.77	102.27			
*****3194	9/19/2013	s	SOUTHWEST CORPORATION (stock split)	(200.00)	34.94	(6,830.74)	152.46		254.73	

#### Exhibit C – CEF and OMF Transactions in Customer DT's Account

Account #	Trade Date	B/S	Security Description	Qty	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			EATON VANCE							
*****3194	8/26/2013	b	SENIOR INCOME	2,000.00	7.04	14,474.92	391.32			
			EATON VANCE							
*****3194	11/19/2013	s	SENIOR INCOME	(2,000.00)	6.95	(13,506.16)	388.80		780.12	
							Total Sales Cre Commission	edits and/or	10,821.85	
								Total Gain/l Customer	_oss to	
								Total Comp	ensation to	\$10,821.85

Account	Date	Buy/Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
OMFs			•							
AKOT, 91 Laisumyts Pitker Bodiniasi	*/24/26* *		ツイ 条連を置す 水作取品に買ぶす み音が で得り 様ひ SAL A.	· • 3. • Z2	1010/8	1 750 C.				
<u> </u>	0V/2744/170	0,	100 A 200 ET	1   1/2	1.00.000	1,280,00	<u> </u>			
Transfer to Set 2	製作和整何主要	Yeshisilae	OTRATESY MEVO ORFOED OLA	4 6 2						
*****8920	5/15/2012	s	IVY ASSET STRATEGY NEW OPP FD CL A	113.122	9.98	(1123.96)				
					<u></u>					
Alecology Longhapy Prince Wantester			WY MARK 523 RTL C#4081 NT 83							
£11%	5545611	à .	F) A	\$37,360	10.0%	3800				
Tightsher to 38403	Maria de la Caración	Transfar	OYOMANAASED NOTE ONPORTUNITES NOTA	\$14.8°						
*****8920	5/15/2012	S	IVY MANAGED INTL OPPORTUNITIES FD A	343.148	8.1	(2774.5)				
Acct. at Lockey's Prior Member Firm	5/24/2011	b	IVY ASSET STRATEGY FD CL A	111.441	26.92	3000				
Acct. at Lockey's Prior Member Firm	5/14/2012	Transfer	IVY ASSET STRATEGY FD CL A	112						
*****8920	5/15/2012	S	IVY ASSET STRATEGY FD CL A	112.815	23.89	(2690.15)				
0320	3/13/2012	3	INVESCO BALANCED RISK ALLOCATION FD	112.013	23.03	(2000.10)				
*****8920	5/15/2012	b	Α	923.788	12.99	12005		600		

Account	Date	Buy/Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			INVESCO BALANCED RISK							
*****8920	7/11/2012	b	ALLOCATION FD A	3482.679	12.99	45245		1,357.20		
*****8920			INVESCO BALANCED RISK ALLOCATION FD							
*****8920	11/27/2012	b	A INVESCO BALANCED RISK ALLOCATION FD	223.547	13.42	3005		90		
*****8920	3/25/2013	S	A	4868.362	12.68	(61725.83)			2,047.20	
UITs										
			PARSO DOM							
수요(20) 영화 보통해변환(12) 문제상(1 ()(원화연합·통제			よのNES TOTAL (A)BRAET 見い表で見る(3) む国形(国本1,22) ない文字で見る(1)							
<b>岸</b> 体的。	342222		(注象性 (元)医療さら あらぬ。	4.0%	3 9088d	4.047.17				
ীক্ষাব্যক্তিক হচ ক্ষাব্যক্তি	_ 1867 44720 M.C.	Three Apadijash	19、1度のごのできた。 JONNES 193年4年 対国的保護所 国で東西東の自分 の国別である。 の国別である。 の以来表示意義した でみる場	<b>4</b> 276						
			INVESCO DOW JONES TOTAL MARKET PORTFOLIO SERIES 122 QUARTERLY							
*****8920	5/15/2012	S	CASH	406	8.9915	(3645.55)				
CEFs										
*****2487	10/23/2012	b	BLACKROCK BUILD AMERICA BOND FUND.	250	22.8	5862.12	157.12			
			Cash Withdrawn			0				
*****2487	9/24/2013	s	BLACKROCK BUILD AMERICA BOND FUND	-250	18.8502	(4565.57)	141.9		299.02	

Account	Date	Buy/Sell	Security Description	Quantity	Price	Amount	Commission	Sales Credit	Sum of Sales Credit and/or Commission	Total Amount of Customer Lost/Gain
			BLACKROCK							
			GLOBAL OPPORTUNITIES							
*****2487	10/23/2012	ь	EQUITY TRUST	700	13.6774	9815.46	236.28			
	1012012012		BLACKROCK	1.55	10.07.1	00.0.10	200.20			
			GLOBAL							
			OPPORTUNITIES							
*****2487	5/23/2013	S	EQUITY TRUST	700	14.0729	(9605.66)	240.2		476.48	
			EATON VANCE							
			SENIOR FLOATING-RATE							
*****8920	3/26/2013	ь	FUND	1000	16.8623	17235.11	367.81			
			EATON VANCE							
			SENIOR							
			FLOATING-RATE							
*****8920	9/12/2013	S	FUND	-1000	15.7901	(15,432.21)	352.62		720.43	
			CARELLEGUEY							
*****8920	3/26/2013	ь	GABELLI EQUITY TRUST INC	1000	6.4699	6695.54	220.64			
0320	3/20/2013		GABELLI EQUITY	1000	0.4033	0000.04	220.04			
*****8920	5/24/2013	s	TRUST INC	1000	6.9701	(6737.26)	227.72		448.36	
			NUVEEN BUILD							
			AMERICA BOND							
*****8920	3/26/2013	b	FUND	300	20.7899	6393.23	151.26			
			NUVEEN BUILD							
*****8920	5/24/2013	s	AMERICA BOND FUND	300	21.1301	(6181.22)	152.7		303.96	
0320	3/24/2013	3	TOND	300	21.1301	(0101.22)	132.7		303.90	
			CAPITAL	-						
			SOUTHWEST							
*****8920	7/23/2013	b	CORPORATION	45	143.02	6543.17	102.27			
			CAPITAL							
*****	40/00/0040		SOUTHWEST	400	20 5427	(E747.40)	400		202.27	
*****8920	10/28/2013	S	CORPORATION	-180	32.5127	(5747.19)	100 Total Sales Cre	dite and/or	202.27	
							Commission	runa anu/oi	4497.72	
							55/////////////////////////////////////		1137.72	
								Total Gain/Lo	⊥ ss to Customer	
									sation to Lockey	
								and SWS	<i></i>	\$4,497.72